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Answer all groups as per mstruot/ons
Figures in the right hand margin md/cate marks.
Candidates are required to answer
In their own words as far as practicable.
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GROUP - A

1. Fill in the blanks. (all) Ly %42
J2LR I eel (2a2) |

(@)iis - IS the main source of Ilvellhood in India.

@IQ@GQ 6@1@9‘1!99@ @1@@[ @QI@Q 91%14 g

(b) Green Revolutron was started |n the year

{ age el i ﬂeelee ‘alee 6@1@&@! |

(c) Newmdustnal pohcywas mtroduced ln the year '

269 Jaqi6 _ oBaks LIRS 62AR2AM |

(d) Full form of MRTP Act is _

MRTP Acte gaiGiel . #ggl

RTQ.
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() In 1991 policy, investment limit of small scale industry s

0 N0 ¢ (dQl §eR1060 fadaq 9 aFegls el
26Q' |

GROUP - B

Answer any eight of the following questions within two to three
sentences each. [2 %8

6A6R183 [ 99Q 289 966494 IR Q1 6715 QIFIsR gRIR @

(a) What do you mean by warehouse ?
AIMESlQF @6l ?
(b) What do, you mean by land reforms .?
o8 96600 Q4 ? ‘
(c) What is industrial license ?
dg dAf1g AQFE QEsm G?él Qf& ?
(d) What is evolution ?
G?QQG?IQ RIEM RS QE. ?
(e) What is education 7 |
33 @41 7 i
(f) What do you mean by fore"'iglrj’. trade’?

656057 QIdeY F06m KE ¥ 7
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(d)

(f)

(9)

(h)

(1)

(i)

What is FEMA ?

FEMA Q26R @6 Q8. ?

What do you mean by Health and Nutrition ?
QY & QAARIR @6l ?

What is import substitutidn ?

2ICQIS1 2R Q4 ?

What do you mean by trade policy ?

Q&Y /16 |4 ?

What do you mean byAbétéméht'o’f pollution ? o
9986l 2id c36n ad e ‘

Why FDI is considered as an important source of investible
resource ? L

(36950 9F FI0Q 98R6edR CUl aa 2iss ?
What do you mean by cl_imaté ch'é'nge’?

FRIL IR K ?
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GROUP -D

Answer any four questions within 500 words each.
696Q183 ¥G g9Q Qa9 Y6IRg 800 e FER @Y |

4. Discuss various causes of low productivity in Indian agriculture.
[7

Q0GR 98Q G AUIFQ FIRCgEw 2ERSR @R
5. Discuss various impacts of green revolution. % [7
AeR G998 YRI9YEe ALRIST 89|

6. Stateand explainthe rnain objective of New Industrial Policy, 1991.

y | [7
QR 929109 &y asqsﬁa Smel e asmm Q|
7. Explain importance of Human Resources Development [7
ARG ISR @QQ 63_@@ ZJIGGRI@QI Qo
8. Discuss composmon of Ind:a S forelgn trade. s [7

QR 6@6%1@ QI@@HQ G@@ usaloal Q|

9. Discuss vanous causes of growth of service sector in India. [7
QNG GQIQIGSQ Gg@@ @l@&@l@@ 2N G?QI

10, Discuss various impacts of climate change in India. - [7

QURPEE 997 IR IRINYPR 2SRIOR! [a
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Answer all groups as per instructions.
Figures in the right hand margin indicate marks
Candidates are required to answer
in their own words as far as practicable.

GROUP - A

Answer all questions and fill in the blanks by choosmg correct
answer given in the brackets. o - il 12 v
QAR ¢l @&lﬂl@&@l A0R a@a @9,@ 6?6) Qﬂ% Qéj@ ﬂ@gl@ |

dosl @ |-

(a) L If poputatton growth is hlgher than the growth of Natlonai "
Income, then per caplta income will T
(mcrease / decrease)

LN 9B FI010l 2l 26GE @teo@ etqe 6969 el
2l 629 (9F gle)

(b) MP, “in Agriculturel sector Lo MR Industry
Sector. (= /<)

PBEHLER MP, 38 6RQ6Q MP, | (=/ <)

PTG,




[2]

(c) Higher the household income, the will be de.
mand for children. (higher / lower)

GeaIa 26 2la 6267, ORIs diel 912 24|
(QF | 219)

(eb 2k ~ increases as arithmetic progress.
(Population / Food production)

01509 966 e @& AN |
- (992rdl / ¢IeY agIeR)

(e) Dualism is basically_found in countries.
' .(DeveIOping / Developed)

. ' 6@%1?1!@@’66) QUITROI 6QGUG qem |
(@@Iﬂ‘éﬂ@ | SRE3)

(f) Risein GDP causes in environmental degrada-
tion. (increase / decrease)

P00 9F JGERER RIS 62NN |
(290 | UQRE)

(g) Example of common property resources s

ARG Lota LR ARNLAES] l

(h) Sustainable development gives importance to i
(short run / long run)
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AIQSHD QRIS

Q 90Q 69Rel |
(e AR 1 Q@ AL

Export led growth shows establishing the new industries

the country. (inside / outside)

QIR 699Q URYE 694
(6% | Q1216Q)

Qg d8 godl @60l

Exchange of goods and services between two countries is
Known as foreign

(Aid / Trade)

GREQE FlIER QA Ie° Al &g
SRR

(6962¢@ 2100l | 696930 SI&eY)

QIR

Engine of growth is :
(Investment / consumption)

2098 QG QRN |-
(G694 | 2U6RIT!)

Technological dualism was proposed by
(Prof. Boeke / Prof. Higgins)

S isiaRals A lala] JeIe Qe |

(69, 6916 | 69 2RTR)

RT.Q.
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. GROUP-B

oL Ans'we'r"ahv'e"i'qhvt of the f-olloWing questions within two to three

,-sentences each., , , [2x8
| -ege@aq rg ge]@ AR gs@q@@ QR 9 GERIG APYER AP 9|

() What s b:rth rate ?
L @a o0 6a?

’ ';"(b).,'.«What do you mean by population explosion ?

o -fl?f@@ essalaa @@em P9 QL ?

ey Defme mlgratlon
. -'-':’.-‘ﬂ':-"',e@al@aaa q%sn emﬂ

. (d) Deﬂne Globahsatlon

f "‘@qm @aaa Ql"&‘ﬁl 6%1!
(e) Deflne dens:ty of population.
| gagrdia aala 2@l 6Rd|
AT Wh-a,t- is ca-p,ivtal',fo.rm.atidn ?
- 98 2°90Q @4l ?
(g) Define S.éving.

ABGR LR CRY|
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(h) What is international trade )
ABFIR QTN el 7
() Whatis aid?
QARIGE| @&l ?
(1) What are non-renewable resourées ?

SRS 61T QLIPS @4l ?

GROUP -C

3. Answer any eight of the following questions within75_ words ,eac;rh.
SARAI T6 990 0aa 966iag, 98 40 FRIQ 9aI7 84|

g3
(a) Define age structure. i

QAL 6109 @l ?
(b) Define cerrion property eeticas

AR 2R AR 2 67|
(c) Défihe externality.

QIQ‘{@IQ Qlf&’fl omal |
(d) Define Dualism.

690990 LRl 6 |
(e) What is climate change ?

ARG V0IRR P4l ?

R @:




[6]

i , (f)_, ].What is export-led growth 7
L aqm@a@ PRQB Q¢ 7

” ;:'(g') .’;What is import substitution 7

L o '?JI‘?IQI’@] JodIdR @4l ?

L =,(h.>fWhat is optimum population ?

i ,‘éqcﬁpm So e a8 7
| (.) '."“I'What do you mean by Rural development ?

"4:"5,';"“‘}611911@ @@lca 926 96 Q€ 7
(J) :,;Defmev'svgst_amable development.

- GROUP -D

Answer any four quest:ons within 600 words each.
sgeaﬂaq xe b QRQ JERIRG 800 FIR cleleq @2 |

4 Explaln theory of Hams-Todaro migration model. [7
@I@q 66‘!@!6@! @@I@Qéﬂ Cleeme Ql@l%‘ sl @ |

5 Discuss how lncreasmg populatlon affects economic development.

| . 7
20150 Sald Ug6R, FFY SRl Fod Ueals 98 @68
ZIeRIDR| FS | |
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6. What is dualistic development thesis ? Discuss its implications.
(7
60 QqI8 AR @4 ? IR FRIIAIR 2RISR KB
7. How does economic development affect environment ? [/

2108 Bql8 Fad QQGQQQ JRIGo @64 EIIGEHI@Q! GPG)I

8. Examine the relative role of taxation and public borrowmg in eco- |
nomic development. ey [7' i

2R IIIER 0 IS AQQINT TR QRAICR qaq @@91
@ | 71

9. Discuss hdw'dOes trade contributé to deve'ICbhqe'ht'- o i
deBe Q@Iélsa SRSl qs;q ?JIGGRI@QI G?QI

10. Evaluate the arguments for and agamst lmport substltutxon and i
export promo'uon 7 U [7 e

212151 9AIOR N9° QIR 98R8 qgsa \'1@° @gsae@ Zige 9@61@@
g8 @0 |
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Answer all groups as per instructions.
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Candidates are required to answer
in thelr own words as far as practicable.

GROUP - A

1. Fill in the blanks. (all) 42

AR Godl o (deg)

(a) Cooking process of plants is known as.

QR OAR YRG, QLN |

(b) Primary production refers to growth of

! 6FIRN QYR GREM ARYER QEIN |

, (¢) National Green Tribunal Act was enacted in
@G A6 QULINARE G EREQ YRR CRAREIRI ?

(d) Wildlife Protection Act was enacted in

QAL OB BIRA 6AED PSIE CRARER 7
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(1) Extractive industries are defined by

98¢ 9@ Qe 947! FRULlI |

GROUP - B

2. Answer any eight of the following questions within two to three
sentences each. - e [0

62663 T 990 A0Q Y604RE IR Gl F6AIF ARYER 91T @S|

(2) What is enviornment ?
ARERS @41 ?

(b) What is positive externality ?
dRIda QUIE! @6l ?

(c) Define publid gdods.

- de@ial 994 @dl Q8lRl|
(d) Whatis missing market ?
. ﬁﬁd@@m @61 ? |
(e) What is dodble dividend ?,

Gede qlerd qe?
(f)-’ ,What is Pigouvian fee ’?_ "

Jofeie & @47
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(e) Write a note on negative externality.
Qe QI2Yel 94 7
(f) Define climatic change ?
Gnalg afeas edal @l
(g) Define Coase theorem.
sqld 6q adal aal '
(h) Write a hote’ on sustainable development.r L
Jee1s agee adal aal i
() Whatis exterﬁality 2
Q4L Gn‘él ?
(i) Whatare Renewable Resources 7 o

sayiaiataalla =r5k
GROUP D

Answer any four questions W/z‘h/n 500 words each
c6@1Ed ¥G 99 a@e geeqee soo <9 cmsa eal

4. Describe the environmental issues and challenges of developmg

countries.
20990 60495770 J66 A104 6 21918 94l Al
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